REFERENCE MATERIAL
MS-08:  QUANTITATIVE ANALYSIS FOR MANAGERIAL APPLICATIONS
2008

Q.1. Solve the following system of equation by Cramer’s rule.
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Solution.
x1 +x2 + x3 = 10
5x1 -2x2 + x3 = 3
3x1 + x2 -4x3 = -1

By applying the Cramer’s rule
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= 1(8-1) -1(-20-3) +1(5+6)
= 7 + 23 + 11 = 41
D = 41
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= 10 (8-1)-1 (-12+1) +1(3-2)
= 70 + 11+ 5 = 82
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= 1(-12 + 1) - 10 (-20 -3) + 1 (-5 -9)
= -11 + 230 - 14
= 205

Dz could be find out by placing  ( 10 , 3 , -1) at the z’s place
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= 1 (-2 * -1 ) – (-3 * 1 ) – 1 ( 5 * -1) – (3 * 3) + 10 (5 * 1) – (-2 * 3)

= 1 ( -1 ) – 1 (-14) + 10 (11)

| Dx| = 123

We have to find values of x, y, z

x = Dx / | D |   = 82/41   = 2
y =  Dy / | D |  =  205/41 = 5
z = Dz / | D |  = 123/41 = 3

we can confirm the values by putting them in them in the equations

x1 + x2 + x3 = 10  ---------------- (1)

2 + 5 + 3 = 10

5x1 - 2x2 + x3 = 3 ---------------- (2) 

5(2) – 2 (5) + 3 = 3
10 -10 + 3 = 3

            3x1 + x2 - 4x3 = -1  ----------------- (3)

            3 ( 2) + 5 – 4 (3) = -1

            6 + 5 – 12 = -1

            11 – 12 = -1

